Problem 1

Hans Uitenbroek
2" HM Fairy Section Tzuica 2021
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HS#3 (9+8)
Roses a2, a5, b7
b) White pawn f5 to e4

1.ROf7 ROb7 2.Rc3 (2.Rc1?) Qa8 3.Ked+ ROxf7#
1.ROg5 ROf7 2.Rcl (2.Rc3?) Qf8 3.Kf2+ ROxg5#

Pelle-moves by both Roses



Problem 2

Hans Uitenbroek
3nd Place Nunspeet 2019

= A

LB LR
A - ==

& A imm
@
i )

H#2,5 Circe Assassin (5+9)
2 solutions

Grasshopper b1, g3, h3
Rookhopper c7
Bishopper c6
Rooklocust h5
Bishoplocust e5

1... LBxc7-b8 2.RHc7 Gb4 3.axb4 Gd6#
1... LRxh7-h8 2.Ph6 Gh1 3.Txh1 Gh5#

1... Gb4 2.axb4 Gd6 (no check) 3.~ Gf4+? 4.Gxe5!
1... Gh1 2.Txh1 Gh6 (no check) 3.~ Gh4+? 4.Gxh5!

Locusts on e5/h5 aren’t the right hurdles for the Grasshopper and must therefore disappear from the
line. The hurdles must be black, but first they get captured by the Locusts and play back to their line.
Pinmates.

(see also nr. 4 below)



Problem 3

Hans Uitenbroek
F1328 Probleemblad Nr.4 2020
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Nightrider: c7, 8, f7, g1, h8
Rookhopper: c2, d6, e7, h4

1.Qd5+? A Ke3!
1.Nf1? [2.Qd5# A]

1.
..RHe3 y 2.Nd2# C
.. Nh3 2.Bxf3#

.. b52.Qa8#

.. Nb6!

ol el el

RHd3 x 2.Qe5# B

1.Qe5+? B Kd3!
1.Nc1? [2.Qe5# B]

1.
..RHe3 y 2.Qd5# A
.. Se6 2.Qf5#

.. Na7 2.Nxd6#

.. b5!

ol el el

RHd3 x 2.Na2# D

1.Qc37? [2.5g3#]

1.

RHd3 x 2.Qxd3# E

1. RHe3y2.Qxe3# F
1.
1... Sf5!

Nxe2 2.Bxf3#

1.Qc5! [2.5g3#]

1.

RHd3 x 2.Qe5# B

1.. RHe3 y 2.Qd5# A
1...
1... S5 2.Qxf5#

Nxe2 2.Bxf3#

(8+13)



Problem 4

Hans Uitenbroek
F1332 Probleemblad Nr.4 2020
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HS#3 CirceAssassin (8+15)
2 solutions
Grasshoppers: d1, d3, g3, h3

1.Bb8 Re5 2.Gb3 Bxb3 [+Gb8] 3.Gf4+ Gel#
1.Qh8 Bh7 2.Gh1 Rxh1 [+Gh8] 3.Gh6+ Gfl#

1.Be5? ~ 2.Gb3 Bxb3 [+Gb8] 3.Gf4+ Gxe5!
1.Qh7? ~ 2.Gh1 Rxh1 [+Gh8] 3.Gh6+ Gxh7!

White Bishop and White Queen don’t get the job done by providing a hurdle on e5/h7 for the White
Grasshopper. Those hurdles must be Black. Bishop and Queen must disappear on the rebirthsquare
of the White Grasshopper.

Exchange of function between White Bishop/Queen (sacrifice / pinning)

Exchange of function between Black Rook/Bishop (guarding a2 / providing hurdle)



Problem 5

Hans Uitenbroek
2nd Place Nunspeet 2021
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h#2.5 2 solutions (3+7)
Kobul Kings

1... Sc4 2.Re7 Sxe7[c5=rR] 3.Bxc4[f4=rS] rSeb#
1... Se7 2.Rc4 Sxc4[c5=rB] 3.Rxe7[f4=rS] rSd3#






